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* a scientific or graphical calculator

INSTRUCTIONS

Use black ink. You can use an HB pencil, but only for graphs and diagrams.

Write your answer to each question in the space provided in the Printed Answer
Booklet. If you need extra space use the lined pages at the end of the Printed Answer
Booklet. The question numbers must be clearly shown.

Fill in the boxes on the front of the Printed Answer Booklet.

Answer all the questions.

Where appropriate, your answer should be supported with working. Marks might be
given for using a correct method, even if your answer is wrong.

Give non-exact numerical answers correct to 3 significant figures unless a different
degree of accuracy is specified in the question.

The acceleration due to gravity is denoted by gms=2. When a numerical value is
needed use g = 9.8 unless a different value is specified in the question.

Do not send this Question Paper for marking. Keep it in the centre or recycle it.

INFORMATION

The total mark for this paper is 75.
The marks for each question are shown in brackets [ ].
This document has 8 pages.

ADVICE

Read each question carefully before you start your answer.
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Answer all the questions.

1  The continuous random variable X has the distribution N(, 30). The mean of a random sample of
8 observations of X'is 53.1.

Determine a 95% confidence interval for . You should give the end points of the interval correct
to 4 significant figures. (4]

2 A book collector compared the prices of some books, £x, when new in 1972 and the prices of
copies of the same books, £y, on a second-hand website in 2018.
The results are shown in Table 1 and are summarised below the table.

Book | A B C D E F G H I J K L
X 0.950.65]0.70 | 090 | 0.55 | 1.40 | 1.50 | 0.50 | 1.15 | 0.35 | 0.20 | 0.35
v 6.06 | 7.00 | 2.00 | 5.87 | 4.00 | 5.36 | 7.19 | 2.50 | 3.00 | 8.29 | 1.37 | 2.00

Table 1
n=12,>x=9.20,2y = 54.64, >x2 = 8.9950, Zy2 =310.4572, > xy = 46.0545

(a) It is given that the value of Pearson’s product-moment correlation coefficient for the data is
0.381, correct to 3 significant figures.

(i) State what this information tells you about a scatter diagram illustrating the data. [1]

(i) Test at the 5% significance level whether there is evidence of positive correlation between
prices in 1972 and prices in 2018. [5]

(b) The collector noticed that the second-hand copy of book J was unusually expensive and he
decided to ignore the data for book J.

Calculate the value of Pearson’s product-moment correlation coefficient for the other
11 books. 2]

3 Jo can use either of two different routes, A or B, for her journey to school. She believes that route A
has shorter journey times. She measures how long her journey takes for 17 journeys by route A and
12 journeys by route B. She ranks the 29 journeys in increasing order of time taken, and she finds
that the sum of the ranks of the journeys by route B is 219.

(a) Test at the 10% significance level whether route A has shorter journey times than route B. [8]

(b) State an assumption about the 29 journeys which is necessary for the conclusion of the test to
be valid. 1]
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The random variable X is equally likely to take any of the » integer values from m+1 to m+n
inclusive. It is given that E(3X) = 30 and Var(3X) = 36.

Determine the value of m and the value of n. (7]

26 cards are each labelled with a different letter of the alphabet, A to Z. The letters A, E, I, O and U
are vowels.

(a) Five cards are selected at random without replacement.
Determine the probability that the letters on at least three of the cards are vowels. [4]

(b) All 26 cards are arranged in a line, in random order.

(i) Show that the probability that all the vowels are next to one another is 29190 . [3]

(ii) Determine the probability that three of the vowels are next to each other, and the other
two vowels are next to each other, but the five vowels are not all next to each other.  [4]

The numbers of CD players sold in a shop on three consecutive weekends were 7, 6 and 2. It may
be assumed that sales of CD players occur randomly and that nobody buys more than one CD
player at a time. The number of CD players sold on a randomly chosen weekend is denoted by X.

(a) How appropriate is the Poisson distribution as a model for X? [2]

Now assume that a Poisson distribution with mean 5 is an appropriate model for X.

(b) Find
i PX=0), 2]
(i) P(X>38). 2]

The number of integrated sound systems sold in a weekend at the same shop can be assumed to
have the distribution Po(7.2).

(¢) Find the probability that on a randomly chosen weekend the total number of CD players and

integrated sound systems sold is between 10 and 15 inclusive. [3]
(d) State an assumption needed for your answer to part (¢) to be valid. [1]
(e) Give a reason why the assumption in part (d) may not be valid in practice. 1]
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A biased spinner has five sides, numbered 1 to 5. Elmer spins the spinner repeatedly and counts

the number of spins, X, up to and including the first time that the number 2 appears. He carries out
this experiment 100 times and records the frequency f with which each value of X is obtained. His
results are shown in Table 1, together with the values of xf.

x 1 2 3 4 5 6 =7 | Total

Frequency f 20 15 9 13 10 10 23 100

xf 20 | 30 | 27 52 50 | 60 | 161 | 400
Table 1

(a) State an appropriate distribution with which to model X, determining the value(s) of any

parameter(s).

3]

Elmer carries out a goodness-of-fit test, at the 5% level, for the distribution in part (a). Table
2 gives some of his calculations, in which numbers that are not exact have been rounded to 3

decimal places.

(b) Show how the expected frequency corresponding to x = 7 was obtained.

(¢) Carry out the test.

© OCR 2020
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X 1 2 3 4 5 6 =7
Observed frequency O 20 15 9 13 10 10 23
Expected frequency E 25 18.75 | 14.063 | 10.547 | 7.910 | 5.933 | 17.798
(O—E)*/E 1 0.75 1.823 | 0.571 | 0.552 | 2.789 | 1.520
Table 2

2]

5]
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8 The continuous random variable X has probability density function

K
f(x)= xn
0 otherwise,

x=1,

where 7 and k are constants and # is an integer greater than 1.

(a) Find £ in terms of n. [3]

(b) (i) When n = 4, find the cumulative distribution function of X. [3]

(ii) Hence determine P(X > 7 | X > 5) when n = 4. (4]

(¢) Determine the values of n for which Var(X) is not defined. [5]
END OF QUESTION PAPER
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